Users restricted to
18 years of age or older

fEAERAR18EM L

CM.042-S

Always read through this manual before operation.
IR EZAEKEiENIX EEHIED

| BBHLERIEER | BEULERTHHBRTABLERA
~ Onlyfor18 years

~~ ofageorolder | Operation of this air gun for competition use i restricted to users of 18years of age or older,

L L TR e ———
- Injury caution | gince plastic BB bullets reach soto 60meters, careless shaoting may cause eye damage or other injuries.

gu IEPUEENTSEH | GAfINEACARESTRNATTAREARS LA RIEE RS
- Careful reading of

 Handling cautions | Alwaysread through this HANDLING CAUTIONS AND INSTRUCTION MAMUAL carefully before operation,
W nsthucnon m anuai | Operate the air gun with full recognition of warnings and cautions.



WARNING HANDLING CAUTION-S AND INSTRUCTION MANUAL

FeAE AL Z AT A 15 4 ) 4R AF 5 it

Always wear eye protective gear. wi#fef, FEA R A RFEHELEE,

When shooting the air gun for a target or game, you and all
participants must wear goggles or other eye protective gear,
also paying attention to ricochets. (Pay sufficient attention
also to third personnel other than participants.)

AR RS A 2SR, RRFAA AR EEL A
REHHERGERLT HE’cﬂ%“*f KB, BF2:zEFHE %f}i%
o (MmAZENEZTRAETAFEETAIGE =%, )

You may be punished if you are shooting for a practical joke. 4o £ f ;4 W & & E, Tied T2 85,

You may be punished if you damage public or
personal properties or injure a person or animal
even if you are shooting for a practical joke.
Always observe manners and enjoy healthy sport
shooting.

W RIRME AL RABANT A, REHE AR
P12 4R 2 R AT AT BRI, R TR T, & ﬂu
HEFTHE, FABRENGENYE,

3% A R R LG 5% A
e m..

Never disassemble or modify the air gun

hls 2l ~ ufactured under consideration of
PPF gfRance and operability.

3 1sas ol
ange advi

€ ifying the gun may generate

4” ifect the performance. So, avoid
,g dlssem ng the air gun.

& - AN 0 Lk e L
5« o ¥ ¢ 5k 1 o £ 1

a

» .:‘-"‘\ \ .

Never look into the gun muzzle. Jever shoot at
B HAEBA NSO ok 51 A S ik

Vv human or animal.

Do not look directly into the gun barrel to Never aim or shoot a person or animal as the target.
avoid accidental discharge of BB. Always attach the protective plug to the muzzle,
REHIER FE o, ## 5 BBES 4T, except when you are ready to shoot a target.
RTINS I8 1F B 1R 04 2B A 4
f3E IR & M A 0T 5 —meA ey B A%
B Make sure to operate an air gun after recognizing its features.

B \We are not responsible for any accidents, events, injuries or repair costs arising from wrong
operation and handling or by modification and disassembly of the gun.

B EERAET L BB Z AL
W TR g 4 R AR R LR %udffﬁm:}%*ﬁfr%luﬁﬂi B, BRETFH, 23452 % 5,
MR B A F1E,

2




V4

® THOROUGHLY UNDERSTAND THE WARNINGS AND CAUTIONS FOR SAFE OPERATION.
Fm R AN E P RIET ML, FREDGEAARALS,

Read through this manual before
shooting paying special attention
for safe operation.

EEMAT, HdmM S RENE, SE

Al

SRR AR, WARNING [l CAUTION
A E& A B

Always observe warnings and cautions strictly.

%ﬁ%ﬁ?ﬁ%%?%%%&ﬁ%
L%E'Iﬂ%i%ﬁkf%%ﬂz%iﬁiﬁ%ﬁ z .

Ao

Failing to do so may cause injury ,accidents, or damage to the gun.

Charging the Battery (Battery and charger sold separately.)
TEATEECLATEREBLE)

Use the specified battery for the gun. 8.4V.1200mAh Hyper Command Mini Battery Hyper
Command Mini Battery. Avoid use of nan-standard or other brand name batteries.

Otherwise, the originally designed functions will not be obtained.

A L E R TR, 8.4K, 1200& %%k, Hyper Command
HELRAEZLERA A DT, M RARHE2E,

Use the specified
battery.

Use the specified
battery,

(cvi.oaz"s)
SN e

g@m

@ &5.4V Type Mini Battery

@ Exclusive Charge for Mini [\

Battery.

:Jx ’.;-';: ,-LIL :%:. Jﬂ F:]{] m;;’z :‘ﬁ-
.

/(U] The SD and Mini Battery can not be used.
A (i FIS DR/ BB 6 it

Use the specified battery charger which is applicable to the above battery.
The charger Excusive Type ac Speed Charger.

A LR E M AT S

The battery’ s capacity power is increased with use of the Exclusive (battery)
Discharger(Sold s eparately)

#4007 s T B 1o et R B

(A B )
Use the correct battery and charge according to respective instruction manuals .

We will not be held responsible for any accidents or damage caused by wrongful
operation or usage of non-specified batteries.

AR FIMERAEL N T A AT R, R R B TRERELA i %
H o)k m i G FHURGE, KRG 1247515,

Discharge the battery completely before charging it for the first time and the charging time
iIs 12 hours.

Battery charging time is about 8 hours, do not extra to avoid the over-charge.
The temperature can't over 45°during charging or will damage to the battery.

B —RIERN, LB TeLTHF, LTHENBI2I0E,
CEAETTRE DAL, FREABBEMEEM, ULBE LT,
EATBEPHFZETRBEERFLBISE, TRHBETR.

u -




E THE NAME OF THE PARTS (For details, see the following pages.]
2R L8 (AAEH AT @)
Seiectnr lever (switch) Rear target sight (upper and lower) Front sight
AR RS (HE) ER R E (LAT) n) B 2 B
Button on the gun \ O
: e - B
#g. % ,.';"ﬁ ﬁlg E _;:_..-"" —_— - — oo _lﬂ‘ E :lgu
II"____._._._'_,_,..--" = ik e ) < e s
_'—'___'_ ':'_='_T _ \ Decoration
] Maqazlne Upper wood e 4 4
Gunstock Trigger I 3%
[ Battery Ca se] Iz A EEEEEI
i (T : e Gunbody cover
ggﬂeﬁrnhﬂekhmd iriggsr guard /lf ( Battery Case)
Wi & wRREE % /%ﬁ*é}ﬁ(*ﬂé’a&:ﬁ)
© 2 = Folding Stock
2 | _ : €
T -/%fz: < \J[ = - \1 _ﬂ-iﬁ_ﬁ’ﬁgi}'ﬁ
i~ i | =
Front Sling Hook o
‘ AR 4 Undersid d
Muzzle protector " EE;L.;;;DD Rear Sling Hook
waiRER | A Nagazine JG B w4
CM.042-S | we—safety
[ BT [ Grip
BII Front Sight } A & e Cleaning rod
ﬁﬁﬁﬁ:}ﬂ%l | I .er 2 2
. & ‘ >
E Selector lever and s y se - g §

CAUTION

A

it =

e

Set the selector leve

MEFEHNFRAEESFNZE, TAUME

® To prevent malfunction of the
switch do not change the

auto while pulling the trigger.

)28 $ho

selector lever from semi to full

&5 G Bl A A HE, RiEiE
B, REAFCIFEFATIREHBK

B,

ction may occur.
e

Safety setting [the trigger cannot be pulled.]

LARE (RigETHRE)

i
When you are not firing the gun or during
storage always set the selector to the safe

position.

ARG SER T #0F, WA
L A I

EABRIL

Fully automatic [automatic firing)

2 (k)

The gun will fire automatically while the
trigger remains pulled.

wmERAE RACA e #aT S

Semi automatic

f— ¥a#

The gun will fire one shot each time the
__ triggeris pulled.

?ﬁ'&v’*ﬁ: KA, AT EN— BT,

]




EI Setting the Battery (Set the battery after charging)
%% 8 (R T BT i )

CM.042

Battery
g

W

=

Battery connection
ik %R

0
o Use the screyu that @ Insert the battery
the screw knife cover in the stock and
after* revolve a gun connect
give, take out to link connecters.
“iop, the line pltffl- CEIE R BN X
O Al #5245 71 3% ik B4k i B,
n
J
e E ) 9 When the battery
. U, d insert o , and cords are set
o . 0 in positions, Press
8 : Lo step anti-cover after
N I'V- \ ¥ o pack rgturn toward
a‘;: - " Be operation.
o e b -. = =
RN > = TEueas
r"n‘ "-H . E_L : b, i"%%ﬁ% E.’f:';‘:
N e = D% o) R & 4R 1%
oL ®EE % G
H"-. 3
o fffﬁ’%
iﬂUTIDN ® Attach the protective cap to the muzzle and direct the muzzle towards s safe direction.
PE 2 3

(Always set the selector lever to the Safety position.)
ALREEA LB ONGR200F, RREFERIFALLAEE)

Battery
T i

- = NS

Em Always use the exclusive 042 type battery (8.4v,1200 mAh] for the CM.042-S.
A ILAHCM.042-S 142 FICM.042-SE £ A T ik(8.4v 1200 mAh).

; 51,



@) Remove the receiver @ Connect the battery to the cord that

from its rear while is acce ssible from the hole under
pressing the receiver top the rear sight. Press in the battery I
catch buttan. with its protrusion facing to the left.

SR PaEikEEHET,

WESHTHEEE,

@ Battery Sectional View
ThARFTER

&

Connector nail

a -

X of
o

kﬁj
®

Store the batteryin the receiver as shown.,
[Set the battery so that it does not protrude.)

fo 8] P, HREERIEETE,
(B it R ok Ty R H A

The protrusion must be on the
left side.

Rk RS LARTEAS

-
@ Press the cord connector heing_ﬁ'

connected in step(2)
to the rear, with its
nail facing down.

doFH(2), FTTFHAT,
eI EL 3= R

<,

U= RSC SNiS ce -
NSO ST

Byeceiver toapinthereverse order
Ipoecdure in step(1). Align the lead
0p to the groave under the

PEcelvertopsaligning to the groove

Sy A8 A BT R
WA E Y ENS AR, BhyEES.

CAUTION

A iz
L e ST 1y

=S

When receiver top is set correctly,
the catch button ejects out.

SR LT, RTFES EEREM,

‘s(iaglel 'l [f the cord protrudes, the receiver gunbody cover be closed.
IRl RS R, A EREES L,

4 O Store the battery and R '}‘E‘UTIEN
X connector as shown. e
! » - i AE
W@ T, ®REE Pay attention so that the cord does

not protrude out of the receiver.
Farcing in the receiver top may damage
= : the cord and, if the cord is protruding,
Connector nail %38 the receiver top cannot be closed.

For easy positioning, ERE TR B AW R RIFBEER & TR,
locate the battery cord EERIE R EEES L& & s B,

under the connector.
AT @, Y,




E SETTING THE MAGAZINE 4% 7% [@

@ Openthe cover of the magazine ')
ITHRREE

Insert SmmBBbullets into the loader.
(600 bullets can be loaded)

A OommBBIEEARE,

(=T % A 600#-BB3# )

& Move the gear with hand clockwise
until it is fully wound, and the bullets
will be sent up automatically.
[It can send about 150 rounds
automatically

@ Replace the magazine cover. ‘
IIRE R VANREF ST F @1 F 4%, 1L

8 bike, FAAE A ME

/‘\ L, (Hk A $hiE 1508

CAUTION

—J

b
i
?

l;ﬂ!

A iz E
The magazine is capable of

%

~ Lontaiping@QQ EC bullets.
- ﬁi T4k aN0ZAR

‘a Sy

s
—

!

"|_

NIRSOFT

W
"

IWERSO SNIPER

i
=

® setthe magazine upward. Insta

I

& | Magazine stopper relief rib.

‘f;'i -L ;hF "'I'F..-'h!.: ;%*L ‘:Elfi EE o TET 1",-{ ‘1% ﬁ g _w%‘r&%—_ﬁ Jlf"'.'rl .::‘“ £q ;

1. First set the front.
AR AT Slide the rib in the arrow

direction to remove

remaining BB bullets. [Be

2. Press to the rear.

&) 5 careful since BB bullets
may jump out.]
: EAW A eSSy
3. Press the release lever towards the trigger to lock. il s .
YR T F 4 T H 4T, ##BBT %, ([ VBBT

F 9 fe g d)

CAUTION
A E &

® Always use the BB Bullets for the air gun. We shall not be held responsible for any damage or
accidents arising from the use of bullets supplied by other manufacturers.

e AE A RAERA BBT #, wREALIE/AFTRENTFEMILMNHToTR, M8 T

0 AT T 4%,




I5) REAR SIGHT ADJUSTMENTS % % 1 35 44 3 i

Rear sight E'Qh}
pRiEE WED

Long distance

A
i By
HEEL“‘“J

Press

E{-’L

EEg -

Elevation (up/down) adjustment button
A (k1F) #pdese

Short distance
ift 9 4

The 042 series rear sight is a tangent type which is adjusted vertically according ta distance to the target.
0RZFIZEMNEAETAFBLNAY, A RKEZHERET FaAEY,
Press the adjust button and slide it forward or backward to move the sight up or down. The larger the number,

the longer the distance to the target.
e T AMEm@ T BN SRR, BFMK, B4 i# o

@ Insert the front sight adjustment tool in the
front sight and turn it for adjustment.

MR AR T LG EREE, KEHD
}l'fﬁgﬂ‘ﬂ%ﬂ

Clackwise:
higher sight point

CAUTION

A i

Be careful so as not to loose the

(72

Counterclockwise:
lower sight point

i o% £+ 77 &)

adjustment tool.

L

&% D

E SR LT

Stretch parté % s 2

F
i

CAU
A

Always press the stock

TION

BAE T 7 e

-
i
f i

1 ;I"

'
4 Sl

CML042-S 2SR 4 1 gk

| [ 4 15 L Tk

ﬁé

WARNING K4
Ak

Be careful so that
your skin and fingers
do not get caughtin
the folding parts.

s F 4% A0 BUE R
B &y 15 E,

lock button to open or

close the stock.

) B AR e 2l T AR 364

E,ﬁ o

Avoid applying excéssive
force to the stock bar.

#REARELKE,

CAUTION

T

I s

A

——

Stock bar
EALH T 4t

REMOVAL OF MULTI PROTECTOR

G oAy g e owE e Rk
& Thhe iR v 25 8 AR =P

@ While pressing the lock button.
BT B

The multi protector is fixed by
reverse thread as in the case
of the real gun.

MM —, PR FESRSE

REGEELLNY.

2 Remove by turning the multi protector.
At % Hhhe R T

The cocking lever can be moved.

25 7 7] 3% $haY

Variable hop-up adjustment lever
SR A LR S kB35




EFII’II‘IQ (Confirm your shooting area is safe before
beginning firing.) 4% (447, MR E 17 & 2o 4Y)

€@ set the selectﬁl__r lever to Semi or Full Auto. e pljjlj E;éeﬁt;ggen
CEMFEFIHEEZEILE T - LIRRI=

Uo

o

o e
—

A blank firing may occur ar triggering after the magazine, this is the normal operation of the gun.
A i E SRR ETERE HES, TheAToHY, E2LTEHEFTHHA,

CAUTIONS ON MOTOR AND BATTRY

@ Eharge the battery if the firing cycle becomes slow.
FHFRAER, FAE,

@ Give the air gun a rest for 5 to 10 minutes after firing about 500 rounds, in order to ensure long service
lives of the motor and battery.

BT HEREHET NS, EF%E50048 5, & EE5- 1054205 1 50,
WHEN BULLETS ARE CLOGGED ‘& -T 3¢ [ 4 ¥,

@ If bullets are clogged , reanat and app. g\ “ of silicone oil in to the chamber
from the magazine entrances Shown or spj 4 - 1] EJ S or 1 sec, to obtain smooth continuous.
oI, 47 IR o AR TRl 5 ikt Ea}hﬂﬁ (R AR LR %M,

AFTER OPERATION f& i =2 :

@ Remove the magazine and dny fire the gun in the semi auto mode directing the muzzle to a safe direction.

[Dtherwise the spring may bg weakened). Set el or tRthe Safe position.

cTREIE, £ G niiEE de it /cji 50 s R 1,
?;ﬁ%#arwﬂw“ﬁw B S B P R i

@ Bullets may remaininthe ch ambe
(or if the magazine is not conneetec
magazine, this is the normal opweator of the gun.)

B2 R ATHE, (XBLERELE) FELTHROCGLEERED,

@ Always disconnect the battery and attach the protective cap whenever you do
not operate the air gun.
B HARER fASE, SLABTHE R,
Alway attach the protective cap during stpea

UL L

CAUTION

A &

@® There are possible cases that no firing occurs after pulling the trigger in the semi-atuo mode. In this case,
do not pull the trigger furiously. Fire 5 to 6 shots in the full auto mode and then return to the semi auto
operation.

'&'Fﬁ%ﬁ‘];iﬁﬁ‘-“fr ;S-THE'M-“E"E[E.&JK’*& 4 8 %{Erlﬁﬂfth:*‘.g ;4'3"%]1__{1_‘5_]“,%‘ z’;_%a' ﬂ}'&‘jﬁ“iﬂ—i&,%,
EA QeI AET, SHESH6R, KEEMH LA HARETE:

® Smell may be generated from motor for a while when a new air gun is operated. thisis the normal
operation of the gun.

BIR s 37 RABOFIE, i€ A —Mofdl, ERRARTHELFE44), SEFAETEFTEE,

@ The hopping up operation may be unstable for 200 to 300 rounds after using silicone oil, this is the normal
operation of the gun.

EREBHZE, B XHIT20023008Trer AL, SHFALETEFTLL,

8-



THUUBLE CLINIC'[TFIUUBLE SHOOTING)

i i

By (42 45 Z A0 o MR

TR EHRR)

SYMPTOM 72k

CAUSE &R&

ACTION 7%

No uperatlnn at all

s ik Ak

Select or is set to safety.
5 (35 AT I A A1 — iS5 (Safety)

Set the selector lever to Semi ar Full ﬂutn

Je.iE i% (54T 3

NEF a B2 a0ig

Batteryis not charged. <& i3 70

Charger the battery. $E ke E

Battery connector is disconnected.
Wikt i HITET

AR

Connect the connector.

The @ and (=) or battery connector is revers.
E Ay ik i e R

Connect the connector currec:l;!y. [check the fuse)
-L:F Eltz-l-". ifug’fﬂ' |T i l-.d. _E Jlﬁ I'""‘ IIIII

Fuse is blown out. {§psai 3

SR

Relace the fuse .[See page 8) Faiik Lg% (MaT)

Expired motor life (50.000 to 60.000

rounds) or poor electrical connection.

50,000#/60,0008 6, Hit F & T4k
Sk K B A

Replace the motor (purchasing from your dealer
or us Jor check and repair the contacts

A iy

EEY oD of | LR Ea ol A ,,: .jq_,.;. I"“{‘h 1, A _IP T g il
_-*?:wfr,?s_?mzdt-‘: .

bullets jump out.
.uﬂr‘- i;:l e d -I"_l|I 43 il:!l.';-lf_i-.rg

Although motor is removing,

o F#

Bullets are clogged in the magazine,
FHRMEEFESL

Insert the charging rod into the magazine and move
up and down a few times to remove clogged bullets.
M FFEAFELL, ETHHRL, RAESHTESD,

Bletts are clogged in the chamber.

FEMELEGFHEE

Remove niuggEd huilets using the cleaning rab.
RGE e B ety FERE

Faulty gear. #5337

Purchase the replacement gear from your dealer
and repair, 4% AT G W A7 ah e 5 A ELE

[Automatic firing)
ES ALY A Gk FENC R

Impaossible full-auto operation.

Insufficient battery power. Fi: 5 2

Charge the battery. #4059

Faulty bullet feed of magazine.
FaLi)THxis

Repair clogging the magazine.
AIFE L B g Bk

Impossible semi-auto

Fie A

operation. (Singe shot)

Consult your dealer or us for overhaul maintenan:e
or repair. i £ 45 8 & do T HE4S

Use of poor quality BB bullets will cause pro
HBBFEAT LB M, | RS jrf%i"ﬁ.*lfa 8

E TF
1 '1.";!'

defd &

SYMPTOM &%

Impossible semi-auto
operation. [Single out)

A heF B #a(F

Automatic firing
become shorter.

LA

Set to semi auto firing 5 to 6 rounds in full auto.
o B $hiE — i A #l6d & B 6 B8

'ndify the gun.

*ACTION 7 i+

E e
o

pattery.

Charge the battery. #43:b 70

i N

Shooting distance
become shorter,

TR

Worn or da mag ed chamber packing.
(HDAE B KB AALT

Worn or damaged chamber packing. (O-ring)

A (OME) KEHRT

Deteriorated piston spring. pr o

_ﬁlé_ i. j j.-.l.

Consult your dealer or us foroverhaul maintenance
orrepair. Replace the chamber packing. piston
paﬂking [D ringland piston asﬁemblyn

] 48 J:'l B E e PTHEME E A iR, 2 E 4t 4
'II_'}* fE ) o EmE ﬁ* a

Fauity BB hullel:s [(Too small or heavy)
BB-F T+ & (R #AE)

Use the genuine BB bullet & 7] 5 & & 15 ¥ BBEF

Faulty gear. HHRET

Purchase the replacement gear from your dealer and
repair. TR AR AR W Ay 4 B AT

Gear problem caused by too many blank firing or
worn ordamaged gear.

A ENEONF LR NN AR E S e A

Too loud operating noise.
3

Gear problem caused by too many blank firing.
K3 Ta RS ERSH ML

Bullets being follen out from
barrel end.

e 0 e
-.I 5'1:‘ f'ftli.J\:l |_! ﬁslﬂ

Worn or damaged chamber packing.

(VAT A S N T

Consult your dealer or us for overhaul maintenance
part replacement [gear. ete) or repair.

T-.Iéq:f: ‘_"'L '-"F..r '4':'"1-_'.I-$ :'_.ir-n- :‘35“_-{'11-'-‘5’1-‘.:-%

1

{ oo bh TED
\ uE=rE T

Mo hop setting. 2 A4 EHOP

Turn the hop adjustment lever toward HOP.
FLR e AT HHOPIR &

Faulty BB bullets .[Too small]
BB &3 (R

Use the genuine BB bullet

Being wet ar drop into
water.[rain]

L FBRPELT (FHR)

Stop operation immediately, disconnect the battery ,wipe off water from water from inside the main bady
and the battery, and after complete dry, carry out trial firing, if no operation or malfunction is detected,

E:CI]"IEU": your dealer or us for repair.
3 ] 43 ok 4 J“'] : ‘:?TT“;?T B, ol foig §
:.1. T‘L -'"] !.-t. 'F.L 3 ...#-t i-r': o

VS A

) 40 5K P LA 115 b FTRL A,

GBRT, FREAXE2FTZE, &

P o A

T, oo




VARIABLE HOP UP SYSTEM T % £ 49Hop Up # 4

By producing a back-spin on the BB bullets, this system allows for straighter and longer distance shooting
than normal air gun. Unlike the fixed type, the variable hop up system permits one-touch adjustments
using the dial and lever, making it an ideal hop up system.

BB TR, TUENF —BN AR R EA L, TMEEL e E LA A8 —H, TH 14
Hop Up # & T wA 4 F 45 4 4o 3f) fp AT REATH S
} Adjustment Procedure[Adjust by carry out trial firing] &5 42/5 (0825 6 £ AL FE5)

s Adjustment-lever

7 8 2 _ _ '
\jﬂjmﬂnml, @ Gradually turn the adjustment dial towards Hop to give hop up to
= 1% il bullets. [The best setting is where bullets fly horizontally.)

_ / LIRS T &) . (RUBRE B TRAE
/ 7 4 )

® Turning excessively adversely affects the trajectory. So stop turning the hop adjustment lever when
bullets fly horizontally.

AR FERN NGB TREEEIFo, B, RFERBKFATE, TR H T,
@ The best position is where the bullets fly horizontally, and the longest flying distance is obtained.
RAENEER TR F @S, ETRTREHRENE
Too much hop-up(return the lever towards NORMAL)
i3 e (IS E A AT KR ER L E

Best position O
Tkt i O

XO

Not enough hop-uplreturn tha[:ﬁ.- _
LA F L (4598 H AT 41 B R

OPERATIONAL CAUTION
[strictly obserserve the following caution)

RUFEEFN: (REEATHFR)

\

@ Moving the lever too much towards HOP causes bullets to clog. Firing the gun with clogged bullets
damages the piston and gears.

AXTBERAORRFOLTERTRLE, THREORATHEGERERPE BN HE

o

@ If bullet clogging occurs , immediately stop firing the gun, return the hop lever to the Normal position
and remove cloggéd bullets using the cleaning rod.

ho TR, WEAPPARAE, et REEFEAE, ANEESREFEFE,
@ Make sure to return the hop adjustment lever to the Normal position when removing clogged bullets
or cleaning. (Otherwise, the chamber packing is damaged.)
AR ETAEFESILEFTAKT, LichopHpFEBIEFTa9EE (Normal) (FHMTHEHF )
@ Never use used or dirty bullets. (Otherwise, the chamber becomes dirty, resulting in unstable hopping up.)
TREHEMAFEREART Fo (TMBEREM, K mFE B T )
@® When about 10000 rounds are fired, spray silicone oil into the chamber for 0.5 to 1 dec. (See 11 on page8.

The hopping up operation may be unstable for 200 to 300 rounds after spraying the silicone oil, thisis the
normal operation of the gun.]

B8 X 451000042 F 38, M a2ibei fRAE0.5-180, ( feefakih B, 200-3004 4t ey MR AL, 42
My LA T B SR

@ We will not be held responsible for any damage or accidents arising from wrongful operation,
disassembly and modification of the gun.Any costs for repair of such damage shall be paid by the user.

i 423, TaiaaR il iqma T, #M—ELTa g, SEAENEETHAIAFP
B fTAC3E,

=10])-



CAUTION
A EE

@ If the hop-up is adjusted excessively causing clogging of bullets, immediately stop operating the gun. return
the lever to Nnrma[ fire 2 or 3 EthE and readjust.

i F) 3 MR,

FEMF e A e Wi A £ 44 (Normal)

O E:nce a precision tlght barrel is used. use of dirty bullets or those with burrs causes clogging of bullets and
possible fatal damage to the mechanical box and system.

Sl

BT EERTAE, doRER NG THETE

WARNING
5 4

=
I

® Never hold the gun side ways as the BB hullets
This is due to the HOP-UP system.

2 A AR AE 48 3 AT

G~ i

H &HBBTRIT LT TS

CERTHEECRBEFAOTMER 2,

\

5
gl

will curve tight or left.

T
\)

SYMPTOM 27k cAUSE

JM}"

ACTION 7 1%

Bullets flying upwards.

- P Too much hop setting.

Gradually return adjustment lever towards Normal,
Je 20 i AT 15 by ok 30 3 E AR AR

thop) i3 AKX

Too much hop setting.

Gradually return adjustment lever towards Normal.
Je 38 &5 AT 3 e S B E T AR AR

thop! ai AKX

L L

Short flying distance of bullets
(less hopping up effect).

Fipaifz A 42
(4% T B SR ML AT 3 )

="

R SRS

Cannot adiust
7~ fie. 39 #p

-

-—

—coammeesime . | Fire bullets equivalent to 4 or 5 magazines or clean

: the chamber using cleaning rod.

iF ruhase the P&plﬂﬂ&mﬂnt part at your dealer or
Lrom Marui and replace it.
LT Fir & B,

Y

T fEhop® |

N &SGI=T

JE

= V).

Frequent bullets clogging
TREWREE

Dirty hop packing. Hap#L 3 51t

Clean using the cleaning rod or consult your dealer
for repair.

MO B B H R F 04857 5481,

Tl MAINTENANCE % %

1. Fuse Replacement Procedure.
P e RIE &

The fuse box comes out
when the connectors are

CM.042

Glass tube fuse &/ 5 )

You can buyitata near-hy
electric shop or gas station.
IR VAR 3T 89 B2 5 3%
TEELEHE,

20A Fuse common for
Electrin gun series.

Fuse box [when fuse
is replaced, push into
the stock all the way.

R 84 2 F P k4T
Hﬁﬂ%éﬁu%1 _ﬁ_jﬁ-dﬂ'—ﬁ
HEMILL, )

2

Remove the screw shown in
the battery storage figure.

T EENITENEY

T TH AR AR 4T £P T 24,
@ik ity L42 B

pulled out of the st:ck EF é# FEE A 3 44920A
'ﬁ%‘i‘aﬂi%%%ﬂsl‘ﬁ‘%ii%x,LtE Al e
Feak, Lielhih &Ll 4, f — e i
[EEEE] © remove the hop lever. @ Remove the cocking lever and battery storing
EF el 4t section by sliding them to

3] Hemove the shaft from the
receiver top catch button
and set to the up-right position.

the rear. Since the
engagement isin the

wedge shape, carefully

assemble after fuse
replacement.

ﬁ'::fh‘iihﬂffP‘Fé kAL o
g T &*Eﬁﬁﬁ
—E,k ¥ B0

-11-



CAUTION o
A E AN

— \t ;T_'_:HE
s e
Be careful so as not to loosen small parts. . A

Carefully loosen and tighten the screw so as not to damage the thread.

BENERARG, BHTRLETH, MR RETRL,

When installing the fuse, insert the black cord first and then the

Black cord is located
under the fuse.

R ETHEAL TR

fuse with the fuse terminal mount f.ar;ing uuir:wards. | Back cord ‘%Tﬁa* 5
FERAREEF, RIEALENTER G TR RE HRER T & FH R
R &% # 5), |
2 Remove the obstruct bullets
HIHET R e LA T | =)
@ Insertthe cleaning rod into the bore.  clogged bullets. B :
BETOAEEBANFTRE. MR R B BRSE T, =
iR E T Chamber packing”

TR

- A\ CAUTION ;£
D\ Make sure to insert the cleaning rod AFTER returning
- m%’ | g

f the hop up lever to the Normal position. ([Hop-OFF)
—F RS EREFTEEARBATES,

The ornamental can not be used forcleaning the obstruct bullets.
PNl A P S HREY RRATEREETE,

3. Maintenance When Bullet Speed Become Low 7§ -7 ift /£ 4 1% 0 & 4R 415 &

g

Cotton cloth
gipn ot 4

e 1
5
T .

‘ Wind the cut
prox 259~30mm cotton cloth.

“gb * #925-30mm HFHIe G B R

-

dingly so that it can be inserted smoothly into
SR AT EA N G R T 2,

-
%

&

Hold at the leading end of the rodandinsert the rod . | :
. t-, . " i - L A i 1 A m-ﬁ-—" - ' (R ‘_,,/!’—.___ \\\
into the barrel % ja—— ‘:::“._ | S

& 365 47 W Ml a5 | R

Inserting the rod will be difficult
if you hold rod at the end.
Mde R REFBREMORR, FTHS

CAUTION
A E

36 38 & 7T B AR B 3
Hop chamber packing i T
B A &0 L5 7
Jo i<k
L]
;. :
'] —
Bullet entrance Apply a few drops of silicone or Teflon oil.
F@EA T B B RE AR S

Drop a few drops of silicone ail or Teflon oil from the bullet entrance, insert BB bullets into the magazine
and fire bullets equivalent to 1 or 2 magazine.

Ty o R IFHRFHNAT S, EBBT LM FEL, S8 12K,
@ To complete the cleaning. use the cleaning rod(with cotton)as shown below, to remove excess oil.

RIS FRESHEBATIHARE ZFOEA B,

CAUTION

[ =,
A i &

@ Always carry out maintenance AFTER returning the hop up lever to the Normal position. (Hop-OFF)
@ Since the chamber is a precision component, avoid use of used BB bullets.

@ AT LA IEEEFEEEE, A ETHESRE,
@ TN F — @S, Hs 18R BB aBBE,

A0




4. FINE ADJUSTMENT OF GEAR ENGAGEMENT Insert M4 hexagon wrench into
= By i i A Ah ik 3 the screw hole to adjust.

A CAUTION 5% = AFM47% i AR T35 A

I 1 - i.—fv\ J 1_;': -: -
Only when the motor noise becomes high after operations BILE LRk
for a long period of time, conduct the fine adjustment as shown.

P ) . M4 hexagon t
HHRIFH S &, THFERLGRTE, wrench

Sty
i Yo B AR T MG AT EL M4-x i F48 5 [ )
(Do not hold by the grip during adjustment. Otherwise, the main " Remove the screw

body will drop since the grip set screw is removed. from the grip bottom.
EREFFRETRT, T, IRCEALEATRFNRLRARTRT Ridd A, T R SFAFH R &
A CAUTION 3 =

® It is recommended to lock the adjustment screw by a screw locking agent or instantaneous adhesive after
~ adjustment of the motor position is complete.

® Normally, do not attempt to adjust.
© Be careful as not to overly tighten the screw as it will damage the gun.

® st F DT TMERRE, M BLHITER S HEM 4 A B L 088 247,
® g R RE MR AE,
@ ;i § %8RI BEATA AR A

E’ES

13-



1. The gun tooth inside the head
2.Front barrel

J.5pring @0.4x@4.0=17.5=11T
4. Frontgun tip

5 Front sight

6.M3x5 TMHO

7.0ut gun barrel|

8.Front gallus hook
9.Up gun guard

10.Up gun guard back cap
11.Down gun guard front cap
12.Down gun guard
13.Down gun guard back cap
14.Front gun tip decoration
15. Cut gun barrel

16.Right HOP-UP seat
17.Left HOP-UP seat
18.Outler barrel location block
19.M3=10 PMHO

20.M3%15 PMHO

21.M3%x6 PMHO

22 M3x5 KMHO

23.Up gqun guard located nail
24.5pring{@0.5x@2.3%x19%18T)
25.5pring (0. 4x@3,9x7.5%6T)
26.3taff guage

27.Staff guage panel

28 Staff guage release spring
249.5taff guage release
30.HOP-UP

31.Rubber selector
32.Selector

33. Gun barrel connect link
34 Block

35. Nail

36.Hop-up cylinder rubber
37.M2.5%6 PWAHO d=@5.0
38. @2.0x4 PWAHOQO d=@5.0
39.@2.0x4 KBHO
40.Hop-up rubber

41.Inner barrel sleeve
42.Inner barrel

43.Battery case

44.Cocking lever

45.5pring

46. Location block
47.Spring located slice

48. Gun body cover release
48.M2x4.5 PMHO

a20.Hop up

531.Gun body cover

52.Main gear box

53.Fire selector

54 Quter fire selector
55.M4x10 TMHO

1.HELAF

2.0 3L IE 2

3.JEH @0.4x@4.0%x17.5x11T
4.6 3k

5.00HE A

B.M3x5 TMHQ

7 4G

8.1 77 77 B

9. -+ A

10, 3P A 5

188 ii'f'ijiﬁ T

P/
\

18R i 2
18.M3%10 PMHO
20.M3%15 PMHO _
21 .M3x6 PMHO &
24 . B 3{E0.5
25. H: %(@0.4x@3.9x7.5%6T)
26 4% 1

27 AR R B )5

28 i FLfi g g 0 BE

29 5 Rt B

30 R

MNBRETH

2 REANH

3B AEER

3440 T

36 Y (3 5 e
37.M2.5x6 PWAHO d=@5.0
38.092.0x4 PWAHO d=@5.0
39.02 0x4 KBHO
40 33 H

41 kg W E

42 e E

435 ith B2

44 3 F

45 i F- [uL B ¥

46 [ A7 8k B

4T, Fr F [ AT R

48. i Lh iR EE &

49 M2x4.5 PMHO
50.Hop upl fiF #%
51.4g & i

52 {4 #5

53 KM

54 %HIBETHNHME
55.M4x10 TMHO

-14-

56.Fire selector ring

57.Fire selector coppy barrel
o8.Located slice

28.Gun body (042)

29A.Gun body (042-5)
60.Rigger loop

61.M3%x8 PMHO

62.Gun grip

63. Md=x5 TMHO

84 . Rear gallus hook
635. Location block

06, 0425 Wire

L3

\[. 042 Protect a box of line
] OKAHO
nd.s ock cover
er cable
rock cover
KMHO
R give the fron gun
aun gives the pole
an _gives the pole

N
T

11t

edint
; e

79.The right gun gives the pole card

80 The gun gives to fix the slice of iron

81.The gun gives the key spring coil

82.M3xeKMHO

&3.Braces wreath of empress

84.The left gun gives the pole card anly

85. Rear gallus hook

&6.The gun gives the key

87.M2x5 PMHO

88.5pring @0.7=E5.6=9=8T

89.Copper set

90.M5=10 PMHO

91.5pring

92.The gun of iron gives to position
the copper grain

93.Magazine cover

94 .Magazine rear cover

95.@2x21.5 shaft

96.Right trajectory

97.Left trajectory

98.Gear

99.Clockwork spring base
+clockwork spring
+clockwork spring cover gear

100.Driver

101.Gear

102.Gear spring

103.Magazine cover

104.Bullet block

105.8ping(@0.4x@3.9x7 .5)

106.&2.6=10 PAHO
107 .Ballistic transition nail

56.% 3 if 17 83 R I
57 RMIRTTH/FE
585 fir & H |
59.% 1% (042)
S9A.F {4 (042-3)
60 3k Hl E

61.M3x8 PMHO
Bl

63.M4x5 TMHO

64 .5 H 7 H
SRR ENE
66.0425 H£§
67.042 {1 &
68. @dx10KAHQ
69.E 3t
70,6 5 £
71.f84C )R i
72.M4*10 KMHO
T3.004L ek 5t
T4 FAEILAT
5. 5 FCH

76. ¢ i Hhe
TT.M3x6 45
T8. MAx10PMHO

T H IR e

BO.fE LB E ¥k A
B 4T i i 5 T
82 M3xBKMHO
83. /5 75 W E e
4. EREFER
85.J5 71 W ¥

86.fr T

87 .M2x5 PMHOQ
88.FF & @0.7x@5.6%9%6T
89.4H 4=

90.M5%x10 PMHO
91 1% W

Q2 A G i i

93 58 48 Ak o

94 4% &40

95 G2x21 .57F 4
96,4 #E

Q7. A Mg

98, - %

99. 8 éjé.&ﬂ&&i%—

]

ol L = -
RFETE

100.1&5) F &

101.i% H &
10235 H 5534
103,54 4 35

104, 3 Fr
105,90 @0, 4%@3.9%7 .5
106.@2 6x10 PAHO
107. 58 8 1T i ]




SOFT

UNIVERSO SNi~PER
NIR

Name 2 ® | CM.042 CV.042-S

Overalilength = | £ | 895mm gjgﬁgggzﬁwéhﬁnéﬁtﬁl} I]E extended )
SEEE = i i i i tt

Weight 5 = 3700 g including battery 3610 g including battery

3700 9 (%% i)

3610 9 (47 HLiil)

Magazine capacity #3E#

800 BB bullets 600 BB i

600 BB bullets 600 BB 7}

;.Bgl_l-gtﬁ_:ﬁ_y -

BmmBB bullets BmmBB #

6mmBB bullets BmmBB

Initial bullet speed 1 s

120 m/sec(0.2g BB bullet ]
120 K/f0.2g BB ##)

120 m/sec(0.2g BB bullet )
120 K /#(0.2g BB i)

Eullauto,

| EEEE
shooting speed -

700 to 800 rounds,/min
700%800% /4

700 to 800 rounds/min
700%800% /47

MADE IN CHINA

15-




	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16

